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Question Number : 1 Question Id : 99836721537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& 5e11e5 15 givern with ore terml mussing. select the correct alternative from the givern ones that will complate the

SETIES.

FE, NT, LV, J¥, ¥
Options:

1. % GZ

2. ¥ HZ

3% HA

4 % GA

Question Number : 1 Question Id : 99836721537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U SR R T §, e & U v e 81 Ry g et # & 9 wel e g, S Srgwe i
PR, NT, LY, JH, 7

Options:

1. % GZ

= % HEZ

3. % HA

4. % GA

Question Number : 2 Question Id : 99836721538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:

1. % TSP
2. ¥ O]
2% YHU
4 % GFC

Question Number : 2 Question Id : 99836721538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e weg # T i ferereut & & fowm anye) argRt &7 g
Options:

1. % TSP

2 W ON]J



3. % VEU
4 % GFC

Question Number : 3 Question Id : 99836721539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:

1. % PROS
2. % KM
3. % CEEF
4. % VWTY

Question Number : 3 Question Id : 99836721539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt v # fay My Rt # & Buw e sart @ g
Options:

1. ® FROS

2 ® EMIN

3. % CEEF

4 & VWTY

Question Number : 4 Question Id : 99836721540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word from the given alternatives.

Sumn : Heat : BEain : *
Options:
1. ¥ Water

2 % Clouds
= % Elarlk
4 % Torrential

Question Number : 4 Question Id : 99836721540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FaimiET wa # o oy et & & et geg w1 giam

LRI TR L
Options:

1. qrt

2. % gEd

3. % W

4, ® IEATHT

Question Number : 5 Question Id : 99836721541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, MAPF is written as 'Z’, ‘POEM’ is written as ‘4", What is the code for ‘FROM' in that
code language?

Options:
1. 4
2. %5
2% B
4 ® 7

Question Number : 5 Question Id : 99836721541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U e W e H MAP @3 ST AETE, POEM @4 TR 9ET 51 59 wiE AT | FROM 1 IS F4T 57
Options:

1. ¥ 4

2. %5

285

4 ® 7

Question Number : 6 Question Id : 99836721542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 'TRO' is writtenl as ‘'54', ‘FIS' is written as ‘35", What is the code for 'HOP in that
code language?

Options:
1. % 29
2. % 38
2% 40
4 % 41

Question Number : 6 Question Id : 99836721542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U AE w9 H, TRO &1 'S4’ ST aET s, FIS' 135 o/ 99T 81 569 @iE 9 § ‘HOP &7 §i8 #4757
Options:

1. % 35

> % 33
3. ¥ 40
4. % 41

Question Number : 7 Question Id : 99836721543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four girls L, M, I and P are arranged according to their height in descending order frorm left to right not
necessarily irl the same order). Each of them likes one colour among Elue, Green, Red and White not
necessarily in the same order). P likes white colour. Girl who likes blue colour 15 betweeen L and M respectively.
Height of M is more than P but 1less than M. L likes red colour. How many girls are sitting towards the right of P?

Options:
1.9 0
2 %1



3% 2

4. ® Cannot be deterrmined

Question Number : 7 Question Id : 99836721543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AR ASTEal L, M, I TUTF & 301 SaTe & AgaR ued 0 H a1 & o9 @1 31T coa e T 1T & (e 51 & get %0 | g
a:lﬂ‘@ru—a'cﬁaﬁ:ﬁm T, AT FT A6 H & U O UES & (A A1 ol 561 H H 501 P &1 A 117 U6, 31 95 Al e Jiar
Wuﬂa%warLHmMﬁv‘nwﬁ I T T P # SITE § 0o M H @ 81 L T AT 07 06E o)

TeFa=T AS T P o ST S 8T S 57

Options:

1.9 0

o %]
z 82
4. % Tyerffeg A1 forar =7 |/Far

Question Number : 8 Question Id : 99836721544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
statements. Taking the given statements to be true even if they seerm to be at variance from conmmonly knowrl
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staterments:
I Mo Pis k.
II. Some K are L.

Conclusions:

[. SomeLareP.

II. Mo Pis L.

ITI. Some L are K.

Options:

1. * Only conclusion I follow

2. % Both conclusion I and I follow
2. % Both conclusion I and I follow

4. % Cnly conclusion I follow

Question Number : 8 Question Id : 99836721544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
el Taw T weg § e w0 I oG 3 el O ST F [y T T g T T wet w T 6R 6, T 39 S
et & TargaT g =t Tomand v oflv T Frerffoe @é For fam o a6t & Tomeard, T v et & s o AT @)

]
I FEF, K 51 &1
I FFK, L&A

ELza

1. 7L, P A

II. aﬁﬁp L &1 21

I 7L, K&

Options:

1. % e Twepy I ST e #eaT gl



2. % g1 Tmey 11 T2 11 e & 8l
3. % gt e I q2T Il Sre #d gl
4 el Tea 111 STeRoT #TaT gl

Question Number : 9 Question Id : 99836721545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the odd number pair from the gZiven alternatives.

Options:

1. ¥ 5-37
= ® B-85
3.9 12 - 143
4 % 14-197

Question Number : 9 Question Id : 99836721545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT wa # fon My fewet # & fuw e gm @t g

Options:

1. ¥ 6-37
2. % Z2-85
3.9 12 - 143
4 % 14-197

Question Number : 10 Question Id : 99836721546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg question, select the related rnurmber from the Ziven alternatives.

4359717
Options:
1. % 81
2 ¥ 37
3. % 35
4. % 93

Question Number : 10 Question Id : 99836721546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pt ma i Ry g et 3 & defi s 7t ghm
42:589:71:7

Options:

1. % &1

2 ¥ 87

3. % 35

4 % g3



Question Number : 11 Question Id : 99836721547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By interchanging which two numbers the equation will be correct?

2+cx7+E=8
Options:

1. % 2and 7

2 % 2and 2

3. % Fand &

4 ¥ 7and 2

Question Number : 11 Question Id : 99836721547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ToFT 2F Tl @ e H e eae 0F SHIE el 5 STy
2+E2x7+B6=8

Options:

1. % 2qu7

2. % Zume

=R A ki

4 W FquT2

Question Number : 12 Question Id : 99836721548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By interchanging which two nurrnbers the equation will be correct?

I+ 2xwE2-9=7
Options:

1. 3ands

Z % Zand 3

3. % 2and 9

4 % Sand 3

Question Number : 12 Question Id : 99836721548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToFT 2T HeEgTall T T H E0E eldel- 0e GHIE 5l 51 SATe

St+Excr2-9=7

Options:
1% 9qus

o % T3
2% 2FUT9
4 % SFATS

Question Number : 13 Question Id : 99836721549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

4 9 10
314216 1|33|8 'l I

5 3 6

o]

Options:
1. ¥ E2
=z % BB
3. %54
4. % 5g

Question Number : 13 Question Id : 99836721549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt wg # w7y et § 9§ 5 g (7) % T 0 ST 6T AT R

- 9 10
34216 11338 T]7

5 3 6

{ B ]

Options:
1. v 82
2 % EB
3. % 54
4 % cg

Question Number : 14 Question Id : 99836721550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
fzez@l=32landc@0@2=502 then7&@1&@0="

Options:

1. % 701
Z ® 107
3. ¥ 710
4. % 170

Question Number : 14 Question Id : 99836721550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AEZ@ 2@ 1 =321 FMS@0@2 =502 A7 @1@0="7

Options:

1. % 701
2 % 107
2. ¥ 710

4. % 170

Question Number : 15 Question Id : 99836721551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Identify the diagrarn that best represents the relationship among the given classes.

Sister, Fermale, Male
Options:

©o0

(op

Question Number : 15 Question Id : 99836721551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE W I AT Al T T AT o s o Herel o1 @1 e e o)

a5, Wigerl, I& T

Options:

& (@0 [e




Question Number : 16 Question Id : 99836721552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& 15 in the north of B. B is in the west of C. C is in the north of D E is in the east of D A is in which direction
with respect of E?

Options:

1. % North - West
2. % DMorth - East
2. % South - West
4. % South - East

Question Number : 16 Question Id : 99836721552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A BFIWRURE CHUREHANC, DFIWN AN E DFEHp 4 EFaed A g g d 27
Options:

1. ¥ 3av - ufm

2 % Fw-gd

3 % Zigor - o

4 % gigor - gof

Question Number : 17 Question Id : 99836721553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A starts walking from point P towards East. He walks 60 kan to reach point & He turns right from & and walks
140 km to reach point B, He turns right from R and walks 130 km to reach point 5. He turns right from 5 and
wallks 280 km to reach point T. How far and in which direction is T from P?

Options:

1 ® 40@ ko, South - East

2 % 250 krn, North - West
=% ZEO lam, South - East

40413
il km, Morth - West

Question Number : 17 Question Id : 99836721553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A P& fﬁGﬁTﬂﬂﬂTWW%‘] o 60 for HY. Tem feig O 0 ugoar gl E@'Qﬁm =T 140 T AT, IF@T
ﬁg Eg EUHE_EHT%EI’E]TISD’RFIFT aﬁmﬁg%@m% s ?m 280 T At aﬁmﬁgﬁg
gmﬁmﬁ;&n 77

Optlons:
L # AOVI3 g e o

2. ¥ 250 AT, 39 - o
3. ® 250 TR AT, ShEw - gd



. 40VT3

4 o HY, O - uiE

Question Number : 18 Question Id : 99836721554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:

Question Number : 18 Question Id : 99836721554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T na & o my st # & Buw sy @ gh

Options:




Question Number : 19 Question Id : 99836721555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the figure which can be placed at the sign of question mark () from the given
alternatives.

R R] IR
dl||IP]|| || P|le
R

Options:

1. ™ B

£ R

5 R

4 % R

Question Number : 19 Question Id : 99836721555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT ma | fog my wet #§ & e Torvg (7) & S0 U oI It STgtd i g

R R| |R

& D ? IE &

R

d

1. ® R

Options:




> % QZIR
3. v R
4 % R

Question Number : 20 Question Id : 99836721556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and puniched as shown below in the question figures. From the given answer
fisures, indicate how it will appear when opened?

ey

CETEETTY

: <
ALl E
Options:
vV vV
&0
o O
1 ® AA AA
vV VWY
o ¢
£ 0
5 ® AA AA
VY TA
Lo B o3
Lo B &
2 ® AA AA
TV VY
Lo B e ]
<o O
4 AA AA

Question Number : 20 Question Id : 99836721556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



tel 3 v st § T SgaR 0 S WIS e e T Gie & oTg O Tohd JuT ST ST (G| oy

: 3 <&
AA] .
Options:
LA A
© 0
Lo R+
| % aa aa
VAR A
oo
£ 0
5 R AA AA
VvV VA
Lo B ]
Lo+
5 ® AA AA
VAR A
L o
o0
4 AA AA
Gereral Awarerness
Group Number : 2
Group Id : 998367811
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awarerness
Section Id : 998367932
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 9983671176
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 99836721557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pandit Birju Maharaj is a leading exponent of

Options:
1. ¥ Kathak
2. % Salsa

dance form.

3. % EBharatnatyam
4. % Eychipudi

Question Number : 21 Question Id : 99836721557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TiET R AERS ______ T AT ¥ T vl
Options:

1. % T
L ) P
3. ® 9gAEH

4 % g

Question Number : 22 Question Id : 99836721558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The largest sphinx 15 in

Options:

1. ® Ottawa, Canada
2. % Giza, Egvpt

3. % Brasilia, Brazil

4 % Moscow, Russia

Question Number : 22 Question Id : 99836721558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hae a7 e ___ e

Options:

1. % e F=aT
2. o TR, i

2 % g, S
4 ® grem! e

Question Number : 23 Question Id : 99836721559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
How many times the Bihu festival is celebrated in a yvear?

Options:
1. % 2
o %4
3.3
4 %1

Question Number : 23 Question Id : 99836721559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT H Tepereit R ol T lgTe AT ST 37

Options:
1. % 2
2 % 4
3. v 3
4 %1

Question Number : 24 Question Id : 99836721560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The price of one currency in terms of other currency is knowr as

Options:

1. # Foreign value rate

2. % Foreign money rate

2. ¥ Foreign Exchange Rate
4. % Rate of exchanges

Question Number : 24 Question Id : 99836721560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3121 TaT % HaH H Uk g i hifd @i

Options:

1. % fEdftgra s
2 % EEdTgErE

3. ¢ Tt At ax
4 R o o ET

Question Number : 25 Question Id : 99836721561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the full form of FREM?

Options:

1. # Fiscal Responsibility and Budget Money

2. ¥ Fiscal Responsibility and Budget Management

Z. % Financial Responsibility and Budget Management

4. % Financial Responsibility and Budget Money



Question Number : 25 Question Id : 99836721561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FREM T SFTa| &7 727 57

Options:

1. % Toheod NEaTele oo U8 a9 At

2 o Tteade femialeiee T U aee f=e

3. ® mrEdAead e e US a9 AHe
4 ® g eiatEee U s 7

Question Number : 26 Question Id : 99836721562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& wire used in fuse must have ______ rmelting point tharn the wire in the circuit,
Options:

1. % Lower

= % Higher

3. # Equal

4. % Can have any termperature

Question Number : 26 Question Id : 99836721562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T H T U T W Wi e H TR AT TRl
Options:

1. ¥ 71
o % gag
= % gOoe

4. % FEATIUAF I AR

Question Number : 27 Question Id : 99836721563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is NOT a multicellular organism?

Options:

1. % Mushroom
=z ¥ Amoeba

3. % Lizard

4. % Cactus

Question Number : 27 Question Id : 99836721563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pt # & i g At i g
Options:

1. ¥ muen

2. ¥ arfar

3. % T

4 % Fery



Question Number : 28 Question Id : 99836721564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is the tributary of Indus river?

Options:

1. % Teesta river
= ¥ Zanskar river
3. % Gornti river

4. % Bhima river

Question Number : 28 Question Id : 99836721564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafatT 8 & #17 4 [y 957 & 95w 95T 87
Options:

1. % Freqr At

2. & S Tt

= ® T HEr

4 % oftar At

Question Number : 29 Question Id : 99836721565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following crop is NOT a Rabi crop?

Options:

1. % Gram
= % Earley
2. % Wheat

4. ¥ Cottorn

Question Number : 29 Question Id : 99836721565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tl § & ® | Bad @ & A TR e

Options:
1. % um
o ® St
3 % TE

4 U

Question Number : 30 Question Id : 99836721566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which soil is found in the areas of heavy rainfall and high hurmidity?

Options:
1. # Elark soil
2. % Red soil

3. # Vellowr soil



4. ¥ Pegty s0il

Question Number : 30 Question Id : 99836721566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATt & gy andar anet At # i o ger mE St &
Options:

1. % wEgaT

2. % e mar

3. % dier T

4. ¥ diEEg ey

Question Number : 31 Question Id : 99836721567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Stupas’ are related to which religion?

Options:

1. ¥ Jainism
2. ® Hinduism
3. % Buddhism
4. ® Sikhism

Question Number : 31 Question Id : 99836721567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T o | HeTeT B
Options:

1. % J7ud

2. % fgrg e
z v g
4 % T e

Question Number : 32 Question Id : 99836721568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who built Thadat Ehana' in Fatehpur Sikriin 15757

Options:

1. % Akbar

2. ® Shah Jahan
3. # Jahangir

4. % surangzeb

Question Number : 32 Question Id : 99836721568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1575 H Bdgqe | | 'Sallad @MET e a-amr 917
Options:

1. ¥ arhew

2. % amEeEm



% % FEmie
4 ® TR

Question Number : 33 Question Id : 99836721569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
After failure which of these Quit India Movermnent was launched by Gandhiji?

Options:

1. % Wavell Plan

2. ¥ Cripps Missicon
2. % Cabinet Mission
4. % angust Offer

Question Number : 33 Question Id : 99836721569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % S AT

2 e Thera

2. ® Hfade e

4. ® SATET STH]

Question Number : 34 Question Id : 99836721570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many nations are there in South Asian Association for Regional Cooperation (SAARC)?

Options:
1. %5
2. %3
3.7
4 % g

Question Number : 34 Question Id : 99836721570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fdgor uidreng defter e e () # o g @

Options:
1. %5
= %3
3.7
4 % g

Question Number : 35 Question Id : 99836721571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The key elerments of the Science, Technology and innovation policy are

I. Creating a robust national innovation systerm.
II. Promoting the spread of scientific temper amongst all section of society.

Options:

1. % only I

2. % only 11

2. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 35 Question Id : 99836721571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Toam, e afft e Sifd & mgE dod |

1. T g TP I AeiwHT T &7 S e
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Options:

1. % Fael

2. ® Al

3 o [ FaTIl 2Ft
4. % FFITATII

Question Number : 36 Question Id : 99836721572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which vear was Indian Constitution adopted?

Options:

1. % 1954
2 ¥ 19435
= % 1950
4 % 1551

Question Number : 36 Question Id : 99836721572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 17 AierenT Tomer o o T T 1T 4

Options:

1. % 1954
2. ¥ 1949
2. % 1950

4 % 1951

Question Number : 37 Question Id : 99836721573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is MNOT a list of subjects according to the Indian Constitution?

Options:
1. % Union List

2. ¥ Panchavat List



3. % State List

4 % Concurrent list

Question Number : 37 Question Id : 99836721573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeiT 8 & @9 v T | % argaw fow= & gt 78 27
Options:

1. % o

2. ¥ T g

3. % T et

4 % guedl gEr

Question Number : 38 Question Id : 99836721574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Goods and Services Tax Act came to effect in which vear?

Options:

1. % 2018
2 ¥ 2017
3. % 2019
4 % 2018

Question Number : 38 Question Id : 99836721574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT S HaT e SATarf-=rm forg o § warel! o 2m?

Options:

1. % 2018
2. ¥ 2017
3. % 2018

4. % 2016

Question Number : 39 Question Id : 99836721575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sourabh Verma is related to which of the following game?

Options:

1. # Football

= % Tennis

2. ¥ Badrminton

4. % Hockey

Question Number : 39 Question Id : 99836721575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hie gt WeieiaT | & o 9@F o 9afed 27
Options:

1. % mend



2 ® g
= ¥ dEfieT
4 ® T

Question Number : 40 Question Id : 99836721576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pairs of Player - Sport is NOT correct?

I Wirat Kohli - Criclest

II. Mithali Faj - Cricket

IIT. Manpreet Singh - Hocloey
I%. Ajay Thalkur - Football

Options:
1. %1

2. %1
2% I
4. IV

Question Number : 40 Question Id : 99836721576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR & 8 1 |7 AT - e al g g7

[ e ® Eﬂl - Toree
1. THaTeT o - Torae
I11. At &g - gTefr
[V, &9 ST - Haels
Options:
1. %1
Zo= 1
3% I
4 V1V

Arithrnetic Ability
Group Number : 3
Group Id : 998367812
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Ahility



Section 1d : 998367933

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 9983671177
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 99836721577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of (12 + ?j3 - w12 w7 w197
Options:

1. % 2736

= ¥ 2071

2. % 2550

4 % 2286

Question Number : 41 Question Id : 99836721577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
12+ 77 -3 x12 X7 x 19 FTAF FTE?
Options:

1. % 2736

2 ¥ 2071

3. % 2550

4 % 2286

Question Number : 42 Question Id : 99836721578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr moiany nurmbers are there betweeerl S and 452 which are divisible by 7 or 87

Options:

1. % 125
2. % 128
3.9 120
4 % 130

Question Number : 42 Question Id : 99836721578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S T 482 o e T gt @eand § A 7 a7 8 | e 87

Options:



1. % 125
2. % 128
3.9 120
4. % 130

Question Number : 43 Question Id : 99836721579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
36
: BE LY

What is the value of: [* 25° ]‘5 56
\ _

Options:
1. ¥ 825
2 % 25
3. % 1/5
4 % 5

Question Number : 43 Question Id : 99836721579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

36
_ LI R

(4.;‘353 ]6 \58 \EFF AT 4T 87
Options:

1. ¥ 625
o % 25
3. % 15
4 % g

Question Number : 44 Question Id : 99836721580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The average of 7 numbers is 20. If each number is multiplied by 5, then what will be the new average?

Options:
1. % 35
2. % 100
3. % 20
4. % 4

Question Number : 44 Question Id : 99836721580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

7 et T oftad 20 81 Al ol ST Wi S & O AT S, J7 A ST e g
Options:

1. % 35

2. ¥ 100



z % 20
4. % 4

Question Number : 45 Question Id : 99836721581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a class the average weight of 19 students is 28 kg. If one student leaves the class, then the average weight
becomes 36.5 kg What is the weight of that student?

Options:

1. % 63 kg
2. % B2 kg
3. ¥ ESkg
4. % 57 kg

Question Number : 45 Question Id : 99836721581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%?Em‘mﬁ 19 g7 &7 &f6d 9 35 .17, 81 TS U 973 FyT FIS <dT &, 91 3199 9% 36.5 o0 51 a7 51 39 51 &7 918 47

Options:

1. % g3 fpmm
2 % 52 TEIm
= o 65 I
4. % 57 TrOm

Question Number : 46 Question Id : 99836721582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The price of sugar is decreases by B0%. By how rmuch percent should the consumption of sugar be increased,
50 that the expenditure rermains same?

Options:

1. % 150 percent
2. % 190 percernt
3. % 120 percent
4. % 160 percert

Question Number : 46 Question Id : 99836721582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T Grd 60% & 0 G T 81 W1 @ @ | e Ui & Jhy 51 aTiey, T e GA 87

Options:
1. % 150 uidaT

= ® 190 gidad
3 ® 130 U
4 ® g0 g

Question Number : 47 Question Id : 99836721583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In an election between two candidates, a candidate won election by a majority of 7600 votes and got 70% votes
of the walid wotes. If 5% of the total votes cast were invalid, then what is the total number of votes casted?

Options:

1. % 19000
2. % 20000
2% 18000
4 % 21000

Question Number : 47 Question Id : 99836721583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T FIHISaWT & | B O " T IrdiEa 7800 Tl & gpHd § S AT g TUT I Fel 04 HI T o 70% W HTH gie
%aﬁwmﬁm%%E%mﬁﬁ %nﬁmﬁﬂq ¥

Options:

1. % 19000
2. % 20000
2% 18000

4 % 21000

Question Number : 48 Question Id : 99836721584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& person spends 20% of his total income on food and 25% of remaining income on his children’s education. He
saves the remaining salary. If his savings is Bs. 720, then what is his total salary?

Options:

1. ¥ Es 1200
2. % Rs. 1440
2. % Rs 1200
4 % Rs 1250

Question Number : 48 Question Id : 99836721584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T i ST el ST T 209 WIS U G ed T ¢ a2 39 212 &7 25% S0 agf &1 UgTs U G 9ed T o) g 99 3 P a5
| TFTe SEHT 7 720 T E, T IED! Pl T FT &

Options:

1.9 1200 o
o % 1440 T
3 % 1300 w0

4 ¥ 1200w

Question Number : 49 Question Id : 99836721585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The profit earned when a book is sold for Bs. 292 15 twice the loss incurred when it i5 sold for Rs. 244, What is
the cost price of the book?

Options:
1. % BEs 269
2. % Rs. 250



3. ¥ Rs. 260
4 % Hs 252

Question Number : 49 Question Id : 99836721585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o TodTel @ 292 T & siae UX g ST 6T, 39 244 20 & s 0T g Tt g1 @1 g 1T 81 T e W # Jrd a4 57

Options:

1. % 260 o
2. % 250w
3. ¥ 260 T

4 ® 5o wEr

Question Number : 50 Question Id : 99836721586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifx:v =9:11, then what is the ratio of 6x + 4v : Zx + 5v7?

Options:

1. % 4851
2. % L5047
3.% 49 41
4 % 4950

Question Number : 50 Question Id : 99836721586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aﬁx:?:ﬁ:11%ﬁ6x+4y:3x+5ymaﬂwwﬁ?
Options:

1. % 48.:51

2. % L5047

3.9 45 41

4. % 4950

Question Number : 51 Question Id : 99836721587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the ratio of areas of two circles is 144 . 289, then what is the ratio of their radii?

Options:

1.% 11:18
2. % 1319
3.9 1217
4 % 1219

Question Number : 51 Question Id : 99836721587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e S gl oF % FT AT 144 289 8, T AT 20T T SRIITT F47 57
Options:

1. % 11:18



2. % 13:19
3.9 1217
4 % 12:19

Question Number : 52 Question Id : 99836721588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of the number of students in three classes &4, BEand Cis 2 3 ; 4 respectively. [f difference between
the number of students in class B and C is 75, then what is the sum of total number of students in all classes?

Options:

1. % 525
2. % 540
3. ¥ E7S
4 % 530

Question Number : 52 Question Id : 99836721588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A1 FyT A, B T C H AT T ST HT SU WA 2 3 0 4 B Al T B 0T C # g1 Y g & o &7 4T 75 g, av
T T T et BTAT T EEAT wT AN FAT 77

Options:

1. % 525
2. % 540
3. ¥ B75
4. % 530

Question Number : 53 Question Id : 99836721589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of Bs. 800 becomes Rs. 880 in two vears at the rate of simple interest. [n how many years it will
becomes Rs. 960 at the same rate of simple interest?

Options:

1. ® 3 vears
2. ¥ 4 years
3. % S years

4. *® & years

Question Number : 53 Question Id : 99836721589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
S00 0 T T T8 TR &40 Sl o & 2 a9 # 880 U 51 AT 51 AT o4 &1 THM 2% o T a9 § a5 960 0l 57

Options:

1. % 3o
o ¥ 4
3 % oaf
4 % g

Question Number : 54 Question Id : 99836721590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

A car covers first 150 kim in 7 hours and another 300 kim in 8 hours. What is the average speed of the car for
enitire journey?

Options:

1. % 15 km/hr
2. % 45 kmfhr
2. % 20 lanhr
4 % 25 kmfhr

Question Number : 54 Question Id : 99836721590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T I URAT 150 T dl. 7 o # T2 gET 300 TR AL 8 O¢ # 9 ed’ 51 A0t AT & T A R sEa i e g7

Options:

1. % 15 fop o e
2. % 45 WAt e
= ¥ 20 TR AT e
4. % 25 WAL T

Question Number : 55 Question Id : 99836721591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two pipes 4 and E can fill an empty tank in 9 hours and 12 hours respectively. If both pipes are opened
together, then how many hours will they take together to fill an empty tank?

Options:

1. % 36|7 hours
2. % g hours

2 % 112 hours

4 % Z&6/5 hours

Question Number : 55 Question Id : 99836721591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTET A TUTE U GTeAT 28 1 FHS O 6 9T 12 o H 9 9o 51 Tie ST TTET F1 e T FIeAT SN0, T7 U TTeAT 2 1 A=
H T Teora=1m ww=r #1?

Options:

1. ¥ 367
2 % gur

3 % 112
4 % 35/5 L

Question Number : 56 Question Id : 99836721592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& alone and B alone can complete 3 work in 25 days and 15 days respectively. If they work together for 5
days, then what fraction of the work is left?

Options:



15
i .

7

11

20
3w

1

5
q =

Question Number : 56 Question Id : 99836721592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A STHFT TT B S1haT U H19 @1 A 25 T 7207 15 T § @1 & 9 8 Jf¢ & §F1 0w 91 5 17 @ #d 2, 91 14 @1
e =T T =T

Options:
a
15
1 *®
7
15
2. ¢
11
20
z B
1
5
4 =

Question Number : 57 Question Id : 99836721593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the ratio of total surface area of two cubes is 8 ; 1, then what is the ratio of the edges of the two cubes?

Options:
1.% 2:1
2. % 4.1



Question Number : 57 Question Id : 99836721593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Al S O % Tl THIT & & U & ¢ 1 8, @7 g1 o il SJoArall T SIuTd 4T 57
Options:

1.%2:1
2. % 4:1

V2:1

2Z2:1

Question Number : 58 Question Id : 99836721594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The height of a cylinder is 15 crm. If the area of the base of cvlinder is 154 cmz, then what is the total surface
area of the cylinder?

Options:
700 cm?
i @
660 cm?
s
680 cm?
2w
690 cm?
4 ®

Question Number : 58 Question Id : 99836721594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e I 1S At B I S ¥ ST W7 A 154 A 2 AT Sl T el THIT Sk T 57
Options:



700 &, HY.2

4 _

660 T, HT.2
o o

680 T, #T.2
3 ®

690 T, #H1.2
4 %

Question Number : 59 Question Id : 99836721595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the sale of a company shares for four months.

Month Sale
January 2000
February 1800
March 1600
April 2200

what is the total number of company shares sold in the given four months?
Options:

1. % 7000

2. ¥ 7800

2% 7400

4. % 7200

Question Number : 59 Question Id : 99836721595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e &1 AT ety I At o TR T @ S o TRt aartd T

HereAT fershY
ST 2000
et 1800
A 1600
3 2200

Terl T A W =1 H sl T ST 12 i el ST 4 57
Options:



1. % 7000
2. ¥ 7EO0
3. % 7400
4, % 7200

Question Number : 60 Question Id : 99836721596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of holidays in the five months.

3.5 1
3 )
2.3 T

=

1.5 A
1 -
0.5 -

D T T T T ]
M1 M2 M3 M4 M5

Month

Num ber of halidays

what is the ratio of total number of holidays in five months and the number of holidays in the month M37
Options:

1. ¥ 3:5

2 ® 2.7

3. ¥ 103

4 ®5:3

Question Number : 60 Question Id : 99836721596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el T T v o Ui HE e # g e w i g
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E 254 »
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® 15 2 E
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Options:



1. % 3:5

2 w27
2. ¥ 102
4 % 5.3
Zeneral English
Group Number : 4
Group Id: 998367813
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Ceneral English
Section Id : 998367934
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 9983671178
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 99836721597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

The poor men (1) [ had seen (2) | happiest days (3) /. Mo error (4)
Options:
1.v1
2 w2
3% 3
4. % 4

Question Number : 61 Question Id : 99836721597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The poor mern (1) [ had seen (2) | happiest days () [ MNo error (4)
Options:
1.v1
e %2
3. %3
4 % 4

Question Number : 62 Question Id : 99836721598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a sentence that contains an error.

Options:

1. % The soldiers ran to defend the elder wall.
Z % Of the two evils, choose the lesser.

2. % This m@an is an utter fool.

4. % Her house is next to mine.

Question Number : 62 Question Id : 99836721598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose g sentence that Contains an error,

Options:

1. ¥ The soldiers ran to defend the elder wall.
2. % Of the two evils, choose the lesser.

2. * This man is an utter fool.

4 % Her house is next to rmine.

Question Number : 63 Question Id : 99836721599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

I hope the matter will be (Clear) up sorme day.
Options:

1. % clears

2. ¥ Cleared

3. % Clearing

4. # Mo improvernent

Question Number : 63 Question Id : 99836721599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

I hope the matter will be (clear) up some day.
Options:
1. ® clears



2. ¥ cleared
3. % Clearing

4. % Mo improvernernt

Question Number : 64 Question Id : 99836721600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

The burglar was taken to the near) police station.
Options:

1. ® nearing

= ¥ rearest

3. % latter

4. % No improvermnernt

Question Number : 64 Question Id : 99836721600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The burglar was taken to the {near) police station.
Options:

1. ® nearing

2. ¥ nearest

3. # latter

4. % No improvernent

Question Number : 65 Question Id : 99836721601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

My knifeis ______
Options:

1. ® sharp

tharn wours.

2. % sharpest
3. ¥ sharper

4. % sharps

Question Number : 65 Question Id : 99836721601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

My knife is
Options:
1. ® sharp

tharn wours.

Z. % sharpest
3. ¥ sharper



4. % sharps

Question Number : 66 Question Id : 99836721602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Sut of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: Even rmany villagers owrla T.W.

< T.W. is one of the most modern inventions.

E: In additicn, schools also use thern for teaching lessons.
S: the majority of households have a T.V. set nowadays.

Options:

1. ¢ OSPR
2. % Q5REP
2. % SORP
4. % PORS

Question Number : 66 Question Id : 99836721602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Sut of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: Even rmany villagers owrla T.W.

< T.W. is one of the most modern inventions.

E: In additicn, schools also use thern for teaching lessons.
S: the majority of households have a T.V. set nowadays.

Options:

1. ¢ OSPR
2. % Q5REP
= % SQRP
4 % PORS

Question Number : 67 Question Id : 99836721603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Inwent
Options:

1. % Acquire
2. % Effect

2. % Compose
4. % Attach

Question Number : 67 Question Id : 99836721603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

[rivent



Options:

1. ¥ Acquire
= % Effect

2. ¥ Cormpose
4. % attach

Question Number : 68 Question Id : 99836721604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

Fall

Options:

1. ® Slash

= % Prick

3. * Chop

4. % Descend

Question Number : 68 Question Id : 99836721604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Fall

Options:

1. % 5lash

2 % Prick

2. % Chop

4 % Descend

Question Number : 69 Question Id : 99836721605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ® Acommodate
= ¥ Accommodate
3. % Accomodate

4. # Acomodate

Question Number : 69 Question Id : 99836721605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:
1. #* Acormmodate

2. % Accornrmodate



3. % Accormodate

4 % Acomodate

Question Number : 70 Question Id : 99836721606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Mischievous
= % Mischeivous
3. % Mischievious

4. % Meschievous

Question Number : 70 Question Id : 99836721606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ¥ Mischievous
2. % Mischeivous
2. % Mischievious

4 #* Meschievous

Question Number : 71 Question Id : 99836721607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word i3 incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. % Eighth

= % Liaison
3. % Moveahle

4 % Ashserce

Question Number : 71 Question Id : 99836721607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are givenn out of which one word is incorrectly spelt. Choose the incorrectly
spelt word.

Options:

1. ® Fighth

2. ¥ Liaison
3. % Moveable
4. % Absence

Question Number : 72 Question Id : 99836721608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

nder a Ccloud.

Options:

1. # Heawvily

2. % i sudden shock

2. ¥ Viewed with distrust

4. % Tormake no fuss

Question Number : 72 Question Id : 99836721608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Under a cloud.

Options:

1. ® Heavily

= % A sudden shock

3. ¥ Viewed with distrust

4. % Tomake no fuss

Question Number : 73 Question Id : 99836721609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanlk with best suitable option.

Sarthal was ______ whern the exarm results were announced.
Options:

1. % dress to kill

2. % in high spirits

2. % toread between the lines

4. % in the long run

Question Number : 73 Question Id : 99836721609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Fill in the blank with best suitable opticn.

Sarthal was ______ wher the exarm results were announced.
Options:

1. % dress to kill

2. ¥ in high spirits

3. % toread between the lines

4. % in the long run

Question Number : 74 Question Id : 99836721610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the word that can substitute the given senternce.

To encroach or intrude on
Options:

1. * Incorrigible

2. ® Recluse

3. % Menu

4 % Invade

Question Number : 74 Question Id : 99836721610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

Toencroach or intrude on
Options:

1. # Incorrigible

Z % Recluse

3. % Menu

4. ¥ Invade

Question Number : 75 Question Id : 99836721611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

A person who attends to the diseases of the eye
Options:

1. % Pedant

2. % Altruist

2. ¥ Oculist

4. % Fatalist

Question Number : 75 Question Id : 99836721611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

& person who attends to the diseases of the eye
Options:

1. % Pedant

2. % Altruist

2. ¥ Oculist

4. % Fatalist

Sub-Section Number: 2
Sub-Section Id: 9983671179
Question Shuffling Allowed : Yes



Question Id : 99836721612 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions:

Indra Mooyi is an Indian American business executive, serving on the board of directors of Amazon, the
largest eCormumerce business in the world by net revenue. She has consistently ranked among the world's 100
most power ful wormen. In 2014, she was ranked at number 13 on the Forbes list of The World's 100 Most
Powser ful Women and was ranked the 2nd most powerful woman on the Fortune list in 2015,

In February 2018, the International Cricket Council announced that Mooyl would join the ICC Board as its first
independent fermale director in June. Beginning her career into India, Noovyi held product ranager positions at
Johnson & Johnson and textile firm Mettur Beardsell. While attending “ale School of Management, MNooyi
completed her surrmer internship wath Booz Allen Harmilton. In 15980, Mooyl joined the Boston Consulting
Group (BCG) as a strategy consultant, and then worked at Motorola as Vice President and Director of Corporate
Strategy and Planning, followed by a stint at Asea Brown Bowveri.

Mooy joined PepsiCo in 1994 and was narmed CEC in 2001, She was narmed President and CED in 2006
replacing Steven Reinermund, becorming the fifth CEC in PepsiCo's 44-year history. Nooyi has directed the
cormpany's global strategy for more than a decade and led PepsiCo's restructuring, including the 1997
divestiture of Tricon, now known as Yurml Brands. Tricon included companies like Pizza Hut, KFCZ, and Taco
Eell under its umbrella. The financial gains from this spinoff allowed the company to increase the pace of its
share buyback strategy, thereby giving it more leverage to pursue future acquisitions without as much
shareholder backlash. Nooyi also took the lead in the acquisition of Tropicana in 1998, and the merger with
Quaker Oats Company, which also brought Gatorade in 2001, The $32.2 hillion acquisition of Tropicana
initially faced opposition from other PepsiCo executives and Wall Street Critics.

Sub questions

Question Number : 76 Question Id : 99836721613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At what number was [ndra Nooyi ranlked in the year 20147

Options:
1. 13
2 o= 1z
=% 14
4 = 15

Question Number : 77 Question Id : 99836721614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
o which list was she ranked as the 2nd most pOwEI‘ful WorTian in 20157

Options:

1. ® The Forbes list

2. % The Fortune list

= % Both The Forbes list and The Forturne list

4. % Mo option is correct

Question Number : 78 Question Id : 99836721615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When did she cormplete her surmmer internship with Booz Allen Harrlton?
Options:

1. % In 1980



2. % When she joined Pepsico in 1934
2. % While she was attending Yale School of Management
4. % Whern she joined the ICC Board

Question Number : 79 Question Id : 99836721616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Decade is a period of:

Options:

1. ® & years
2. % 100 years
3. % 20 years
4 % 10 years

Question Number : 80 Question Id : 99836721617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of them does not mean the same as pace?

Options:
1. Measure

2. % Getalong
2 ¥ [gnore
4. % Stride

Question Id : 99836721612 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension

REead the following information carefully and answer the given questions:

Indra MNoovi is an Indian American business executive, serving on the board of directors of Amazor, the
largest eCormmerce business in the world by net reveriue. She has consistently ranked among the world's 100
most poweer ful wormen. In 2014, she was ranked at number 13 on the Forbes list of The World's 100 Most
Power ful Women and was ranked the 2nd most powerful worman on the Fortune list in 2015,

In February 2018, the International Cricket Council announced that Mooyl would join the ICC Board as its first
independent female director in June. Beginning her career into India, Nooyi held product manager positions at
Johnson & Johnson and textile firm Mettur Beardsell. While attending Yale School of Managerment, Nooyi
cormnpleted her swrmmer internship with Booz Allen Harmnilton. In 1980, Nooyi joined the Boston Consulting
Group (BCG) as a strategy consultant, and then worked at Motorola as Vice President and Director of Corporate
Strategy and Planning, followed by a stint at Asea Brown Bovert.

Mooyl joined PepsiCo in 1994 and was named CEO in 2001, She was named President and CED in 2006
replacing Steven Reinermund, becorming the fifth CEQ in PepsiCo's 44-year history. Noovyi has directed the
cormpany's global strategy for more than a decade and led PepsiCo's restructuring, including the 19497
divestiture of Tricon, now known as Yuml Brands. Tricon included companies like Pizza Hut, KFC, and Taco
Eell under its umbrella. The financial gains from this spinoff allowed the company to increase the pace of its
share buyback strategy, thereby giving it more leverage to pursue future acquisitions without as much
shareholder backlash. Nooyi also took the lead in the acquisition of Tropicana in 1998, and the merger with
Cuaker Cats Compary, which also brought Gatorade in 2001, The $3 3 hillion acquisition of Tropicana
initially faced opposition from other PepsiCo executives and Wall Street critics.

Sub questions

Question Number : 76 Question Id : 99836721613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



At what number was Indra Mooyl ranked in the year 20147
Options:
1.9 13
Z w12
3. % 14
4. % 15

Question Number : 77 Question Id : 99836721614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
11 wiiich list was she ranled as the 2nd most pOWEI‘ful WiITlar in 20157

Options:

1. % The Forbes list

2. % The Fortune list

3. % Both The Forbes list and The Fortune list

4. % MNo option is correct

Question Number : 78 Question Id : 99836721615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did she cormplete her surmmer internship with Booz Allen Harrlton

Options:

1. % In 1930

= % Whern she joined Pepsico in 1994

2. ¥ While she was attending Yale School of Managerment
4. % Wwhen she joined the ICC Board

Question Number : 79 Question Id : 99836721616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Decade is a period of:

Options:

1. % & vears
2. % 100 years
3. % 20 vears
4. ¥ 10 vears

Question Number : 80 Question Id : 99836721617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of them does not mean the same as pace?

Options:

1. ¥ Measure
Z. % Getalong
2. ¥ lgnore
4. % Stride
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Group Number : 5
Group Id : 998367814
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
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Group Marks: 20
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Cereral Hindi
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Section Marks: 20

Display Number Panel: Yes
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 99836721618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T3 iy et # & 9o0W e F 9 F0

Options:

1. % amd
= % g

3% TE

4. ® e

Question Number : 81 Question Id : 99836721618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty el o @ 9000 g & o diFm

Options:

1. & s
2. % O

)

4. % A



Question Number : 82 Question Id : 99836721619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To T e # T @ T

ATAF 56 JEaElAd H 05 757 &l
Options:

1. % "%

o ®

z. ¥ s

4. ® gEHHE

Question Number : 82 Question Id : 99836721619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T e o fopa @ e S

STA® 56 JeamTad H U 75T 2l
Options:

1. % "@g%

> ® gEram

3 adE

4 % gEdF

Question Number : 83 Question Id : 99836721620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A STex HT AT Toedg e UY Wodd o & H &/ 01 g

Options:
1. % &a
2%
39T
4 % o

Question Number : 83 Question Id : 99836721620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT STeg 1 AT Tdede 9= W oo o &0 | &7 WTH §IT?

Options:
1. % &
2 % d
3.9
4 % o

Question Number : 84 Question Id : 99836721621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT T ETerRr S SR T ST ORI e

A = 39 A -A % ST eram
Options:



1. % 54

= % areag
3. ¥ ot
4. % mea

Question Number : 84 Question Id : 99836721621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T ST o $RETIeRT AT T Og=IT e

FIT = 39 O-HT ¢ STy Teram
Options:

1. % &ar

2. % aeng

3. ¥ guar

4. % yeog

Question Number : 85 Question Id : 99836721622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TH & griaw geeT & U JugE deq AT 57
Options:

1. & ayiremr

2. % T=ET

3. % g

4 % T

Question Number : 85 Question Id : 99836721622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5T & “gIiw geT O TRl IO S 7 7
Options:

1. v ariremr

2. % z=Er

3. ® gradr

4 % STy

Question Number : 86 Question Id : 99836721623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAH W FAT] F U= G 57
Options:

1. % ymarg

2 ¥ agd

3. % Oaw

4. ® grgadEr

Question Number : 86 Question Id : 99836721623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TH | I FAT] F UIIAART AR 87
Options:

1. % %g:ﬂ'?b_g[

2. ¥ sgA

3. % gEw

4. % grgEEr

Question Number : 87 Question Id : 99836721624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr iy g @ Aer anf AT BT

-3
Options:

1. % amr-gar
2. % TAT-Fe
3. ¥ aee-ama
4. ® FIE-TT

Question Number : 87 Question Id : 99836721624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tarr Ty g @ T e T 27

- a7
Options:

1. % Sqy-gar
2. ® TaT-aer
3. ¥ aa-ama
4, ¥ FTA-3TT

Question Number : 88 Question Id : 99836721625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEFT aeg & & § &1 |1 I 51 51 o7
Options:

1. % zig—am

2 ® ferer-fay

3 ¥ FE-my

4 & FEHr-frem

Question Number : 88 Question Id : 99836721625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Sreg & & # @19 &7 0 S 51 87
Options:

1. % Zigor-am

2 % Teter-femer



z 8 e
4 ¥ Fomt-TaeEm

Question Number : 89 Question Id : 99836721626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o w9 Tg 8

Options:

1. & Taf
o %

3. ® o
4, % gmaE

Question Number : 89 Question Id : 99836721626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T T F B 87
Options:

1. v Faf

= % g

T

4 % gmgH

Question Number : 90 Question Id : 99836721627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiaT & & %9 a1 &g giea 27
Options:

1. % g

2. ® grfar

3 %I
4 ¥ 93

Question Number : 90 Question Id : 99836721627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PrafafaT & & #i ar geg giee 27
Options:

1% T

2 % grefar

3 % g9
4 ¥ 93

Question Number : 91 Question Id : 99836721628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ety Ty e 3 vy T v

EER R



Options:
1. 9T Jraw

2 % oof
= ¥ foicmenw
4 ® Teguy

Question Number : 91 Question Id : 99836721628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tam T A 3 ey T uRE W

EER R

Options:

1. & g e
2 % of

3. % TecaeAE
4 % Teauy

Question Number : 92 Question Id : 99836721629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T AT F AR T ORI

Options:

1. ¢ Ffara
o ® FHAqRY
3. ® qEEEd

4 & HAdRT T 9aT=d

Question Number : 92 Question Id : 99836721629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty Ty =T W e T Oge @i

Options:

1. ¢ Ffara
2. % FHaREY
3 ¥ aEERT

4. % FhIRT T IOET=d

Question Number : 93 Question Id : 99836721630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 99836721630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 94 Question Id : 99836721631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gEaqm

2. ¥ gigar g

2. % swrd @
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Question Number : 94 Question Id : 99836721631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 99836721632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 99836721632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % grdar
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3 % ey
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Question Id : 99836721633 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
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Question Number : 96 Question Id : 99836721634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® T o A

2 % R F I

3. % SRS @ W

4. & g dT TAEET T OET

Question Number : 97 Question Id : 99836721635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 99836721636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 99 Question Id : 99836721637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 100 Question Id : 99836721638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 99836721633 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 96 Question Id : 99836721634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 99836721635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 99836721636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 99 Question Id : 99836721637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 99836721638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 101 Question Id : 99836721639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Apo protein that is a component of chvlomicron is

Options:
1 & AP B-48

> % ApoD

2 % Apo A-1

4 % Apol

Question Number : 101 Question Id : 99836721639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




| T #-48 (Apo B-48)
. % T ¥ (Apo D)
_ & T T1 (Apo A1)

, % TS (Apo J)

Question Number : 102 Question Id : 99836721640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The solid chemical to be dissolved in a solution is called

Options:
1 % solvent

- % solution
5 « solute

4 w liquid

Question Number : 102 Question Id : 99836721640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

3.3“%

4 % 99

Question Number : 103 Question Id : 99836721641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The unmeasured anion constituting anion gap is

Options:



1 % Sodium
- % Potassium

5  Phosphate

4 % Chloride

Question Number : 103 Question Id : 99836721641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 104 Question Id ;: 99836721642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When the arterial pH is above 7.45, then the individual is considered to have

Options:
1 % Acidosis

- « Alkalosis

5 # Hyperglycemia

4 = Hypoglycemia

Question Number : 104 Question Id : 99836721642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 105 Question Id : 99836721643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Albumin excreted in the range of is called *microalbuminuria’.

Options:
¢ 30-300 g/day

e o

5> % 3.3 g/day

= # 30-90 mgiday

4  30-300 mg/day

Question Number : 105 Question Id ;: 99836721643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 30-300 g/

. % >3.5 gffes

. » 30-90 mg/fes

, v 30-300 mg/fem

Question Number : 106 Question Id : 99836721644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HbA l¢ estimation indicates the average blood glucose for the past days.

Options:



1 o 120

Question Number : 106 Question Id : 99836721644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

w120
. % 150
- % 130

. % 200

Question Number : 107 Question Id : 99836721645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a finding of metabolic alkalosis?

Options:
, w DPHIs increased

» % PCO2 is normal

3 « HCO3 is decreased

4 % HCO3/H2CO3 is increased

Question Number : 107 Question Id : 99836721645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 108 Question Id : 99836721646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a property of colloids?
Options:

¢ They exhibit Brownian movement

FI .

-~ w They carry either positive or negative charge

5  They carry only negative charge

4 = They exhibit Tyndall effect

Question Number : 108 Question Id : 99836721646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 99836721647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements regarding the Bicarbonate buffer system is true?
Options:

; = The pKa of carbonic acid is 1.6.



-  The ratio of bicarbonate to carbonic acid is 20 at pH of 7.4 in normal conditions.

- » Normal plasma bicarbonate concentration is 42 mmol/L.

4 = The ratio of bicarbonate to carbonic acid is 2 at pH of 7.4 in normal conditions.

Question Number : 109 Question Id : 99836721647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| s Tfas # pKa (f%T) 1.6 gl

T aRfEufaat # 7.4 & pH W FEiae JFa F T SFEae @ AHgaa 20 gl

2.

o« THAED AT STSeTaiAe TE0T 42 mmol/L &l

AT IR & 7.4 & pH W FEfeF 37 F A dTFFEHE H 3FF9F 2 B

Question Number : 110 Question Id : 99836721648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The deltoid muscle is innervated by the

Options:
1 % Radial nerve

> % Ulnar nerve

- % Suprascapular nerve

4  Axillary nerve

Question Number : 110 Question Id : 99836721648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 111 Question Id : 99836721649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following structures is the Hyaline cartilage seen?

Options:
, « Cricoid cartilage

> ® Auricle

5 = Epiglottis

4 % Acetabulum

Question Number : 111 Question Id ;: 99836721649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Afewr (ferss) 3wty

1. ¥
, » Hioig (3RTFe)
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. 398 (Taeges)

Question Number : 112 Question Id : 99836721650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT the content of Popliteal fossa?
Options:

, = Popliteal artery



- % Common peroneal nerve

= « Pudendal nerve

4 % Tibial nerve

Question Number : 112 Question Id : 99836721650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
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4,

Question Number : 113 Question Id : 99836721651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are False ribs?

Options:
; & OLIV and V

5> % V.VIand VII

s % VL VI and VIII

4w VILIXand X

Question Number : 113 Question Id : 99836721651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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> = V, VI 3R VI
. = VI, VI 3R VI

4w VI IX 3R X

Question Number : 114 Question Id : 99836721652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Mandibular nerve passes through the

Options:
1 ® Foramen lacerum

- « Foramen ovale

5 % Foramen magnum

4 = Pterygoid canal

Question Number : 114 Question Id : 99836721652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 115 Question Id : 99836721653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the fifth cranial nerve?
Options:

1 % Trochlear nerve



-  Irigeminal nerve
= % Abducens nerve

4 % Facial nerve

Question Number : 115 Question Id : 99836721653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 116 Question Id : 99836721654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gerota’s Fascia is a thin laver of connective tissue that covers the

Options:
,  kidneys

> % adrenals

- = thyroid

4 % liver

Question Number : 116 Question Id : 99836721654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 117 Question Id : 99836721655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Clotting factor II is also called

Options:
1 % Christmas factor

> « Prothrombin
Fibrinogen

S

4 % Stable factor

Question Number : 117 Question Id : 99836721655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 99836721656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Closure of semilunar valves produces heart sound.
Options:

1 % first



> o second
z % third

4 % fourth

Question Number : 118 Question Id : 99836721656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 ® qaH

Question Number : 119 Question Id : 99836721657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT true regarding gastric juice?
Options:

, « Itcontains a proteolytic enzyme called trypsin.

- = Hydrochloric acid is one of its inorganic constituents.

- w volume secreted is between 1200 and 1500 ml/day.

4 = It contains the enzymes, pepsin and rennin.

Question Number : 119 Question Id : 99836721657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 120 Question Id : 99836721658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following conditions is cardiac output NOT increased?
Options:

1 ® Fever

~ « Cardiac failure
% % Anaemia

4 = Hyperthyroidism

Question Number : 120 Question Id : 99836721658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 121 Question Id : 99836721659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find out the incorrect statement regarding the handling of high risk samples:

Options:
, % Mouth pipetting should be avoided.

- » Hand washing with antiseptics after handling blood specimens.

-  Raw blood material should be poured into the sink.

4 = Serum should not be poured from one tube to another.

Question Number : 121 Question Id : 99836721659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 99836721660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
sterilisation is performed in a pressurised chamber called an autoclave.

Options:
; = Dry heat and radiation

- % Radiation

5 % Dry heat

4 + Moist heat

Question Number : 122 Question Id : 99836721660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 99836721661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an example of Transport media?

Options:
1 « Stuart’s medium

> % Wilson and Blair medium



=z % Lowenstein-Jensen medium

4 = Bilesaltagar

Question Number : 123 Question 1d : 99836721661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id : 99836721662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Venkatraman-Ramalkrishnan medium is used as a special transport media for

Options:
, = Staphylococcus aureus

- # Salmonella typhi

= % Escherichia coli

4 « Vibrio cholerae

Question Number : 124 Question Id : 99836721662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 99836721663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For sterilising an operation theatre gas 1s used.
Options:

. Glutaraldehyde

Do

-  Formaldehyde

= % Ammonia

4 % Carbon monoxide

Question Number : 125 Question Id : 99836721663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 99836721664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a killed vaccine?
Options:

, = Salkvaccine for polio

-  Sabin vaccine for polio



- u Hepatitis B vaccine

4 % Cholera vaccine

Question Number : 126 Question Id : 99836721664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 99836721665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a routine culture method employed for bacterial isolation?

Options:
1 % Lawn culture

> % Stab culture
=z % Stroke culture

4 « Streak culture

Question Number : 127 Question Id : 99836721665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 99836721666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a counterstain used in gram staining?
Options:

1 ® Acetone

- % Cedar wood oil
= « Safranin

4 % Gram’s iodine

Question Number : 128 Question Id : 99836721666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 99836721667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements regarding Ziehl-Neelsen technique is FATSE?
Options:

, « Acid fast bacilli will appear dark blue.

- = Acid fast bacilli will appear bright red.



- u Counterstaining is done with methylene blue.

4 = Itisuseful for detecting acid fast organisms.

Question Number : 129 Question Id : 99836721667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id : 99836721668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lowenstein-Jensen medium is used for the cultivation and isolation of

Options:
, « Mycobacterium tuberculosis

- % Yersinia pestis

- » Corynebacterium diphtheriae

4 # Salmonella typhi

Question Number : 130 Question Id : 99836721668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 99836721669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In gram staining, gram positive bacteria will appear as
Options:

-~ % red
5 « dark purple

4 = palered

Question Number : 131 Question Id : 99836721669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 99836721670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT gram-positive bacilli?
Options:

1 +« Bordetella

> % Clostridium



3 % Nocardia

4 = Corynebacterium

Question Number : 132 Question Id : 99836721670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 99836721671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is NOT true?

Options:
; = Mumps is also called "epidemic parotitis’.

Measles is transmitted by respiratory secretions.
Croup is caused by parainfluenza virus.

4 « Antigenic shift and drift are exhibited by measles virus.

Question Number : 133 Question Id : 99836721671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 99836721672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For coagulation studies, the anticoagulant used and the whole blood collected is in the ratio of

Options:

Question Number : 134 Question 1d : 99836721672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Thed T F BT, T W TR 3R WU v o e & IFeqd A gl
Options:

1 ® ;

> ® 1:8

3\;’1 : 9

L% 1:10

Question Number : 135 Question Id : 99836721673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The normal platelet count is

Options:
| % less than 100,000 / uL

- % lessthan 50.000/ uL

= 150,000 —400.000 / uL



4 % 50,000-90,000/ pL

Question Number : 135 Question Id : 99836721673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, » 100,000 / pL & Fx

, » 50,000 / uL & &H

- + 150,000 — 400,000 /uL

, % 50,000 — 90,000 / pL

Question Number : 136 Question Id : 99836721674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By Wintrobe’s method, the normal value of ESR in females in the first hour is

Options:
1+ 0—15mm

> % 0—7 mm
z % 0-—10mm

4 % 5—10mm

Question Number : 136 Question Id : 99836721674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1« 00— 15 mm

> % 0 -7 mm

z % 00— 10 mm



4 % 5 — 10 mm

Question Number : 137 Question Id : 99836721675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The I ee-White method is used for assessing
Options:

; w bleeding time

5 % prothrombin time

= % partial thromboplastin time

4 « clotting time

Question Number : 137 Question Id : 99836721675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 99836721676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Macrocytes are classically observed in

Options:
, = Iron deficiency anaemia

- % Thalassaemia

5 = Spherocytosis



4 « Megaloblastic anaemia

Question Number : 138 Question Id : 99836721676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FETE (FFEEEE) FOIRINE T # T o ¥

Options:

_ wtg T FH JFT Taead
1_ 4 e

A HATAF T W7 (Serdifaa)

2

. TeEERET (R

> HERIgTY {FdTeTdl (AIMellealieceh TATIHAT)

Question Number : 139 Question Id : 99836721677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a method of preservation of urine?

Options:
. Addition of thymol

1. ®
> « Addition of double oxalate

- » Refrigeration

4 % Addition of boric acid

Question Number : 139 Question Id : 99836721677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id ;: 99836721678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
per high power field is considered as the normal range of red blood cells in a urine examination.

Options:

Question Number : 140 Question Id : 99836721678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 141 Question Id : 99836721679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is true regarding the gross examination of semen?
Options:

; = Colour: white, volume: <3 ml. pH: 6

-  Colour: grey white, volume: 2 to 5 ml, pH: 7 to 8

5 u Colour: grey white, volume: <3 ml. pH: 6

4 = Colour: white, volume: 2 to 5 ml, pH: 5

Question Number : 141 Question Id : 99836721679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, » T 934, A <3 ml, pH: 6

g T YET &9, AL 2 A 5 ml, pH: 7 & 8

o x T ET 9d, HAE <3 ml, pH: 6



, » T 9839, ATEC 2 9 5 ml, pH: 5

Question Number : 142 Question Id : 99836721680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The diluting fluid used in the counting of white blood cells is

Options:
1 % Drabkin’s fluid

- % Dacie’s fluid

- » Hayem’s fluid

4 « Turk’s fluid

Question Number : 142 Question 1d : 99836721680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 99836721681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How does cerebrospinal fluid normally appear?
Options:

1 « Clear and colourless

- = Light pink and turbid

5 » Slightly turbid and colourless



4 # Cloudy and light pink

Question Number : 143 Question Id : 99836721681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 99836721682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One of the conditions causing thrombocytopenia is
Options:

1 #% chronic infection

- » haemorrhage

2 ® l)GSFSpiEHE{‘ tomy

4 + chronic alcoholism

Question Number : 144 Question Id : 99836721682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 99836721683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mean corpuscular hemoglobin concentration (MCHC) is calculated as

Options:
1 % Hb/RBC count * 10
- % PCV/RBC count * 10

=z % PCV/RBC count * 100

4 v Hb/PCV * 100

Question Number : 145 Question Id : 99836721683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 99836721684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is true regarding ABO blood grouping?
Options:

, = Persons with blood group O are universal recipients

- = Anti-Aantibodies are naturally present in persons with blood group A’

- w Persons with blood group *A’ are universal donors



4  Anti-Aantibodies are naturally present in persons with blood group ‘B’

Question Number : 146 Question Id : 99836721684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 99836721685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which amino acid gives positive result for Sakaguchi test?
Options:

, = Iryptophan

- % Histidine

5 = Cysteine

4  Arginine

Question Number : 147 Question Id : 99836721685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 99836721686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sulfosalicylic acid test is done to detect in urine.

Options:
1 % ketone bodies

- % blood

5 « proteins

4 % bile salts

Question Number : 148 Question Id : 99836721686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 99836721687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The reference method for estimating blood glucose is

Options:
1 + Hexokinase method
> % Glucometer

%z % O-toluidene method

4 # Nelson-Somogyi method



Question Number : 149 Question Id : 99836721687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 99836721688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The solvent system used in amino acid chromatography is

Options:
| % Methanol, acetic acid and water

-  Butanol, acetic acid and water
- % Butanol, lactic acid and water

4 # Ethanol, acetic acid and glycerol

Question Number : 150 Question Id : 99836721688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 99836721689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which pathway is inhibited by fluoride present in a grey colour vacutainer?
Options:

, « Glycolysis

- u Hexose monophosphate shunt

- u Citric acid cycle

4 = Pyruvate dehydrogenase complex

Question Number : 151 Question Id : 99836721689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question 1d : 99836721690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following parameters has a positive correlation in predicting the risk of coronary heart disease?

Options:
; = Ceruloplasmin

-~ % Haptoglobin

3 « hsCRP



4 w Iransthyretin

Question Number : 152 Question Id : 99836721690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id ;: 99836721691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tests indicate Biliary tract involvement?
Options:

, w Incretin and acid phosphatase

-  Gamma glutamyl transferase and 5’nucleotidase

- » Acid phosphatase and alpha fetoprotein

4 # Alpha fetoprotein and myoglobin

Question Number : 153 Question Id ;: 99836721691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id ;: 99836721692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The normal reference range for total proteins is
Options:

; w 6-8mg/dl

5 % 3-5 mg/dl
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 99836721693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

By which of the following is Serum calcium level NOT regulated?
Options:

1 % Vitamin D

- u Parathyroid hormone



5  Oxytocin

4 % Calcitonin

Question Number : 155 Question 1d : 99836721693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 99836721694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Normal serum cholesterol ranges from

Options:

| 150-200 mg/dl

100-150 mg/dl
200-250 mg/dl

Less than 130 mg/dl

Question Number : 156 Question Id ;: 99836721694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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, % 100-150 mg/dl



. % 200-250 mg/d

., « 130 mg/dl & &H

Question Number : 157 Question Id ;: 99836721695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is a natural biological anticoagulant.

Options:
1. &8 EDTA
5 of Heparin

- % Potassium oxalate

4 % Trisodium citrate

Question Number : 157 Question Id : 99836721695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id : 99836721696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a lab finding of Iron Deficiency Anaemia?

Options:
1 % Decreased ferritin

- #% Decreased serum iron



-  Decreased total iron binding capacity

4 % Increased transferrin

Question Number : 158 Question Id : 99836721696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 99836721697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is true regarding Glucose-6-Phosphate Dehydrogenase?

Options:
; = Glucose-6-phosphate dehydrogenase is present within white blood cells.

- « lts estimation is required in patients suffering from severe haemolytic anaemia.

- » It is the enzyme required in a citric acid cycle.

4 w Inits deficiency NADPH production is increased.

Question Number : 159 Question Id : 99836721697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id ;: 99836721698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What should be the position of a 100x oil immersion lens while examining a blood smear?
Options:

, = Lensshould be | cm away from oil

-~ % Lensshould be 10 cm away from oil

-  Lensshould be dipped in oil

4 # Lensshould be 20 cm away from oil

Question Number : 160 Question Id : 99836721698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 161 Question Id : 99836721699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

15 the best fixative for lipids.
Options:
; w Glutaraldehyde
- % Bouin’s fluid

3 o Osmium tetroxide

4 w Camoy’s fluid

Question Number : 161 Question Id : 99836721699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 99836721700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In tissue processing, the step that occurs before impregnation is

Options:
, « Clearing

- ® fixation

5 » dehydration

4 = embedding

Question Number : 162 Question Id : 99836721700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question 1d : 99836721701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The microtome in which the tissue block is movable while the knife is fixed is

Options:
; = Sliding microtome

- u [Freezing microtome



-  Rotary microtome

4 = Rocking microtome

Question Number : 163 Question Id : 99836721701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 99836721702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dissolving 10 ml of formalin in 90 ml of water gives concentration of formalin.

Options:
1 % 90%

100%;

5« 10%

4 % 1%

Question Number : 164 Question Id : 99836721702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

% 90%

- % 100%



2 v 10%

4 ® 1%

Question Number : 165 Question Id ;: 99836721703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process in which empty spaces in the cells, after removal of the clearing agent, are taken up by wax is

Options:
; % Dehydration

- « lmpregnation

%z % Fixation

4 u Clearing

Question Number : 165 Question Id : 99836721703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 99836721704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Van Gieson stain is used for staining and it stains in colour.
Options:

, = Collagen, blue

> » Amyloid, blue



s » Amyloid, red

4 « Collagen, red

Question Number : 166 Question Id : 99836721704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 99836721705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an advantage of using formalin as a fixative?
Options:

, = It penetrates the tissue rapidly.

- = It is cheap and easily available.

5 It causes excessive hardening.

4 % Normal colour of tissue is retained.

Question Number : 167 Question Id : 99836721705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 99836721706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The fixative that has chloroform as one of its constituents is

Options:

, « Camoy’s fixative

> % Osmium tetroxide
% % Bouin’s fluid

4 % Turk’s fluid

Question Number : 168 Question Id : 99836721706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 99836721707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common measurement unit for describing a computer’s memory and storage is

Options:
1 % Pascal

5 o BYe



z % Hertz

4 % Newton

Question Number : 169 Question Id : 99836721707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 99836721708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common pointing device is a

Options:
, = Joystick

- % ftrackball

2 ' Mmouse

4 % scanner

Question Number : 170 Question Id : 99836721708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 99836721709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A is one of the most widely used input devices.

Options:
1 « bar code reader

» # Joystick

- » touch pad

4 ® mouse

Question Number : 171 Question Id : 99836721709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 99836721710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A monitor’s resolution is determined by the number of on the screen

Options:
1 % refresh rate

5> o Ppixels

= % colours



4 ® lmages

Question Number : 172 Question Id : 99836721710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 99836721711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The speed of a printer is measured as that the device can print.

Options:
; = dots per minute

> % lmages per minute

- « bages per minute

4 = pictures per minute

Question Number : 173 Question Id : 99836721711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 99836721712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is FAL SE regarding anti-virus programs available on computers?
Options:

, w Such programs examine the contents of the hard disk for hidden viruses.

- % Anti-virus programs help in detecting viruses.

= % Such program help in removing viruses that are found.

4  Anti-virus programs help in recovering data that is lost due to viruses.

Question Number : 174 Question Id : 99836721712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question 1d : 99836721713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following is NOT a modifier key?

Options:
g Ctrl key

L .

» u Altkey



5  Delete key

4 = Shiftkey

Question Number : 175 Question Id : 99836721713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 176 Question Id : 99836721714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is true regarding file compression?

Options:
1 #% It reduces a hard disk’s access time.

- It enables the storage of additional data on a hard disk.

5 % It improves the performance of a hard disk.

4 % It will not shrink the size of a file.

Question Number : 176 Question Id : 99836721714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 99836721715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the full form of WWW in the context of the internet?
Options:

1 ® World With Web

> % World Width Web
= # World Were Web

4 +« World Wide Web

Question Number : 177 Question Id : 99836721715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

, % World With Web
- % World Width Web
= % World Were Web

. v World Wide Web

Question Number : 178 Question Id : 99836721716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most commorn cause of transfusion reaction is

Options:
1 + the transfusion of an incorrect unit of blood

> % air embolism



= % bacterial contamination

4 % iron overload

Question Number : 178 Question Id : 99836721716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 99836721717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Platelet-rich plasma infusion should be completed within

Options:
1 % 240 minutes
- % 60 minutes

= % 45 minutes

4 « 20 minutes

Question Number : 179 Question Id : 99836721717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 180 Question Id : 99836721718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One unit of packed red blood cells will raise the haemoglobin by

Options:

Question Number : 180 Question Id : 99836721718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 99836721719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The strongest immunogenic antigen of Rhesus system is

Options:
1 = Cantigen

» D antigen
» L antigen

4 = Fantigen

Question Number : 181 Question Id : 99836721719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 99836721720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In autologous blood transfusion, a person can donate blood prior to any surgical procedure.

Options:
1 % 24 hours

- % 48 hours
3 % 60 hours

4 « 72 hours

Question Number : 182 Question Id : 99836721720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question 1d : 99836721721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following information should each blood bag unit NOT be labeled with?
Options:

, « Name of the person who donated the blood

-~ = Date of collection and date of expiry

= w ABO blood group and Rh blood type



4 % Volume of the unit

Question Number : 183 Question Id : 99836721721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 99836721722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following conditions implies a permanent deferral from donating blood?

Options:
] ® Dengue

> % Tonsillitis

=  Chronic kidney disease

4 % Arthritis

Question Number : 184 Question 1d : 99836721722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 99836721723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The minimum acceptable body weight for donating 350 ml of blood is kg.

Options:
1 ® 30

Question Number : 185 Question Id : 99836721723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
350 ml &g g F F AT R F Fgaas T amiiE 8 kg 2l

Options:

1 ® 30

R 35
T 40

4« 45

Question Number : 186 Question Id : 99836721724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is true regarding the blood collection procedure?
Options:
The volume of anti-coagulant shall be in the proportion of 1 : 4 to the volume of blood collected for adequate anti-

, % coagulation.

Quality control of all blood collection equipment shall be carried out as per the standard operating procedures and

> « documented.

- u Pilot samples shall be taken from the blood bag.



4 w This procedure shall be conducted only by unauthorised personnel.

Question Number : 186 Question Id : 99836721724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id ;: 99836721725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PR interval is measured from

Options:
; % the beginning of QRS complex to the end of T wave

- % the beginning of Q wave to the J point

-  the beginning of P wave to the beginning of QRS complex

4 % between two successive R waves
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Question Number : 188 Question Id : 99836721726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements are true regarding U wave in ECG?
Options:

, = Itisthe initial positive deflection in ECG.

- u It is the final negative deflection in ECG.

5 « It occurs due to the slow repolarisation of papillary muscle.

4 = It occurs due to the atrial depolarisation and repolarisation
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Question Number : 189 Question Id : 99836721727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Lewis lead used for recording arrhythmia amplifies activity.

Options:
1 « atrial

> % ventricular



% % atrial and ventricular

4 % blood vessel
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Question Number : 190 Question Id : 99836721728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A V2 chest lead is placed in the intercostal space at the left border of the sternum.

Options:
, = right fourth

> % left fifth
z « left fourth

4 = nlightfifth
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Question Number : 191 Question Id : 99836721729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For complete analysis of an ECG, a lead recording is performed.

Options:
1. * 11

g_uffl'
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Question Number : 192 Question Id : 99836721730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a Unipolar limb lead?

Options:
1 ® avE

o W avL



SR avVF

4 « LeadII
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1 ® aVR

o ® aVL
z ® aVF
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Question Number : 193 Question Id : 99836721731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I ead III is obtained by connecting

Options:
, = rightarm and left arm

- » lightarmand left leg

5 # leftarmand right leg

4  leftarmand left leg
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Question Number : 194 Question Id : 99836721732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Atrial depolarisation is represented by

Options:
; = QRS interval

> # QT interval

z « PR interval

4 % PP interval
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The largest wave in ECG is

Options:
1.« R wave

> % Qwave



=z % T wave

4 % Pwave
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Question Number : 196 Question Id : 99836721734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The measure of the closeness of the estimatad value to the true value is called
Options:

| & Accuracy

- % Bias
= % Trueness

4 % Precision
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Question Number : 197 Question Id : 99836721735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following variables causes a systemic error?

Options:
; = Improper handling and transport of samples

- « Unstable reagent blank

5 = Unstable electric supply

4 = Faulty sample collection
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Question Number : 198 Question Id ;: 99836721736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a characteristic feature of Quality Control materials?
Options:

1 % Controls are sterile.

» # [Ihey are stable.



5  They are heterogeneous.

4 = They are safe and economic.
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Question Number : 199 Question Id : 99836721737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For the parameter creatinine, if the quality control result is within 2 standard deviation, then which one of the following

is done?
Options:
1 #% Calibration error is checked.

- % Instrument is checked.

5 # [Ihe standards are repeated.

4 « The results are released.
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is FAL SE regarding the handling of high-risk samples?
Options:

; = Mouth pipetting should be avoided.

> w Hands should be washed with antiseptics after handling blood specimens.

5  Raw blood material should be poured into the sink.

4 w Serum should not be poured from one tube to another.
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